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Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

(11) Science (E)
Question Bank-2 (August 2022) pate:25-8-2022

Section: A

Total 25 Questions are given in this section. Choose any five questions
from the following. (1 Mark for each) [05]

(A) Select the Correct Opiton.
(1)  What type of mixture is salt and sulphur?
(A) Homogeneous (B) Heterogeneous
(C) Saturated (D) None of these.
(2) A Solution of Iodine in alcohol known as
(A) Tincture of lodine (B) Milk of magnesia
(C) lodoform (D) Iodoalcohol

(3) Which method of separation is used for separation of different solutes that
dissolved in the same solvent ?

(A) Crystallisation (B) Chromatography
(C) Distillation (D) Sublimation
(4)  What is the temperature range on the moon ?
(A) 190°Cto 110°C (B) -190°C to 110°C
(C) 190°C to -110°C (D) -290°C to 220°C
(5)  Whatis the outer crust of the earth called ?
(A) Lithosphere (B) Hydrosphere
(C) Atmosphere (D) Biosphere
(6)  Atwhattime direction of wind is from sea to land ?
(A) atnighttime (B) at new moon day
(C) at day time (D) A and C both
(7)  Which is the only non-metal that is liquid at room temperature?
(A) Mercury (B) Bromine
(C) Iron (D) Sodium
(8)  What s the inter conversion of states of matter is called ?

(A) Physical change (B) Chemical change
(C) A and B both (D) None of these



(9) How much part of the earth is covered with water ?
(A) 25 % (B) 50%
(C) 75% (D) 90%
(10) Which of the following is a green house gas ?
(A) Oxygen (B) Carbon dioxide
(C) Nitrogen (D) Helium
(B) Fillin the Blanks:
(1) The Formula of Ozone is
(2) Nitrogen gas makes up___% of our atmosphere.
(3) Separation method is used to separate butter from cream.
(4) Anincrease in the content of harmful substances in air is called______
(5) Purification of salt that we get from sea water is obtained by the method
(C) TrueorFalse:
(1)  Soil erosion increases soil fertility.
(2)  Incold weather when water condenses out of air is known as smog.
(3) Carbon dioxide constitutes up to 50-60% of the atmosphere on Venus and Mass.
(4) A Colloid is a heterogeneous mixture.
(5) In a solution of sugar, sugar is a solvent and water is a solute.
(D) Answer the following questions as directed :
(1) Whatis a pure substance?
(2)  Write one example of any sublime.
(3) Who was the first scientist to use the term element ?
(4)  Whatis the full form of CFC ?

(5) Name two biologically important compounds that contain both Oxygen and
nitrogen.

Section: B

* Total 25 Questions are given in this section. Choose any five question
from the following : [2 Marks for each] [10]

(1) Differentiate between- Homogeneous Mixture and Heterogeneous Mixture.
(2)  Write any four physical properties of metal.
(3) What are metalloids ? Give examples of metalloids.

(4) How are clouds formed ?



(5)
(6)
(7)
(8)
(9)

(10)
(11)
(12)
(13)
(14)
(15)
(16)
(17)
(18)
(19)
(20)
(21)
(22)
(23)
(24)
(25)

(1)
(2)
(3)

(4)

(5)

List any two human activities that you think would lead to air pollution.

Do you know any activity which may be polluting water source ?

What are the different states in which water is found during the water cycle ?
What are the two forms of Oxygen found in the atmosphere?

Classify each of the following as a homogeneous or a heterogeneous mixture.
Soda water, wood, air, soil, vinegar, filtered tea.

Write any four properties of solution.

Write applications of chromatography.

What are Compounds ? Give any two examples of compounds.

What is the classification of Elements ?

Write any four physical properties of non metals.

What is Solution ? Write the components of Solution ?

Differentiate between Physical change and chemical change.

How many spheres does earth has ? Write the names.

What is the role of atmosphere in climate control ?

How is our atmosphere different from the atmosphere on venus and mars ?
Why do organisms need water ?

Why is the atmosphere essential for life ?

What is the green house effect ?

Draw a neat and labeled diagram of Carbon Cycle.

What is Acid Rain ?

Which physical methods are used to separate the constituents of heterogeneous
mixture ?

Section: C

Total 10 Questions are given in this section. Choose any two questions from
the following : [ 3 Marks for each] [06]

Write a note on how forests influence the quality of our air,soil and water.
Write a short note on Oxygen cycle.

What is the soil erosion ? What are the methods of preventing or reducing soil
erosion ?

List any three human activities which would lead to an increase in the carbon
dioxide content of air.

Write a short note on Water Cycle.



(6)  Classify the following as chemical changes or physical changes :
(a) Cutting of trees
(a) Melting of butter in a pan
(b) Rusting of almirah
(c) Boiling of water to form steam
(d)  Making a fruit salad with raw fruits
(e) Burning of paper and wood.
(7) Classify the following elements in metals and non metals
Iron, Hydrogen, lodine, Silver, Carbon, Mercury

(8) Explain the activity to show the method of separation of a mixture of two
immiscible liquids.

(9)  What is Suspension ? Write properties of Suspension.

(10) What is Tyndall effects ? Give examples.

Section: D

* Total 5 Questions are given in this section. Choose any One question from
the following : (4 Marks for each) [04]

(1)  Which separation techniques will you apply for the separation of the following ?
(a) Sodium chloride from its solution in water.

(b) Ammonium chloride from a mixture containing sodium chloride and
ammonium chloride.

(o) Different pigments from an extract of flower petals.
(d)  Oil from water.
(2) a) What is Separation ? State its importance.
b) State various methods for separation.
(3) Explain Nitrogen cycle with the help of neat and labeled diagram.
(4) How is soil formed ?

(5)  Write a short note on ozone layer.
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Gandhinagar

(010) Social Science (E)

Gujarat Secondary and Higher Secondary Education Board,

Question Bank-2 (August 2022) Dpate: 26-8-2022

The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

Section A

Do as directed : (1 mark each)

(A) Match the following :

(1)
(2)
(3)
(4)
(5)
(6)

A B
Wall Street Crisis - (a) 1929
Second World War - (b) 1945
Municipal Corporation - (¢) Commissioner
District Panchayat - (d) DDO
Black Soil - (e) Regur
() Gold

Precious Metallic Minerals

(B) Fill in the Blanks:

(1)

(2)

(3)

(4)

(5)

(6)

launched the Fascist Party.
(Benito Mussolini, Hitler, Hirohito)
called the Treaty of Versailles as a piece of paper.
(Adolf Hitler, Benito Mussolini, Woodrow Wilson)
appoints 12 members in Rajyasabha.

(President, Governor, Prime Minister)

Gujarat has a representation of members in the Loksabha.

(14, 26, 30)

Mt. Everest is known as in Tibet.
(Sagar Shikhar, Mount Sagar, Sagarmaththa)
The land area between two rivers is called

(Dun, Bangar, Doab)
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(C) Write True or False:
(1) The biggest organ of the United Nations is the Trusteeship Council.
(2) United Nations Secretariat is situated in New York.
(3) Indiais a republic having a parlimentary democracy.
(4) Dr.Rajendra Prasad was the first speaker of Loksabha.
(5) Tamil Nadu coast is known as Coromandel Coast.
(6) Naga Hills are situated in Arunachal Pradesh.
(D) Answer the following in one or two sentence :
(1) Which organization works to improve the health of people of the world ?
(2) From which Italian word has the word ‘Fascism’ evolved ?
(3) Who appoints the Prime Minister ?
(4) What is the normal tenure of the members of the Loksabha ?
(5) Which hill station is located on Aravalli Range ?
(E) Choose the right option and answer the following questions :

(1) Which country dropped atom bombs on the Japanese cities Hiroshima and

Nagasaki ?
(A) England (B) Germany
(C) France (D) America

(2) Who appoints the judges of the Supreme Court ?
(A) Prime Minister (B) Governor
(C) President (D) Vice President
(3) Who presents the budget in the Parliament ?
(A) Prime Minister (B) Home Minister
(C) Finance Minister (D) Member of the Parliament

(4) Which plateau is situated between Aravalli and Vindhyachal ?

(A) Chhota Nagpur (B) Malwa
(C) Deccan (D) Shillong
(5) Where are the Lakshadweep Island located ?
(A) Arabian Sea (B) Indian Ocean
(C) Bay of Bengal (D) Tethys Sea



Section B

*  Answer the following as required : (Each question carries 02 marks) [10]
(1) Whatis Cold War ?
(2) Why was the United Nations established ?
(3) Name the principal organs of the United Nations.
(4) What was the immediate cause of the second world war ?
(5) Why was the International Court of Justice established ?

(6) Which "Four Freedoms’ were proclaimed by President Roosevelt during the
Second World War ?

(7) Whatis "Veto’ power ?

(8) Write short note : Trusteeship Council

(9) What are the eligibility conditions for the members of the Loksabha ?
(10) Describe the emergency powers of the President.

(11) How are the members of the Rajyasabha elected ?

(12) What is the "Quarum’ for the Loksabha and Rajyasabha ?

(13) Rajyasabha is a "‘Permanent House’. Explain the statement.

(14) The Constitution, and not the Union Parliament is Supreme in India. Explain
the statement.

(15) Describe the 'Impeachment’ procedure.
(16) Explain the following terms :
(i) Money Bill (ii) Sarpanch
(17) Explain the following terms :
(i) Bangar (ii) Mineral
(18) What is regolith ?
(19) State the soil formation process.
(20) Explain the formation of Igneous Rocks.
(21) Give details about the Eastern Himalaya.
(22) Give information about the East Coast Plain.
(23) Give information about the West Coast Plain.
(24) State the major physiographic regions of India.

(25) Which are the major types of rocks ? State them.



Section C

*  Answer the following questions point wise : [Each question carries
3 marks [06]
(1) Which circumstances caused the great depression ?
(2) Give information about the Nazism in Germany.
(3) Write short note : The Security Council of the UN.
(4) Explain the Economic and Social Council, as an organ of the UN, means ?
(5) Write short note : The General Assembly of the UN.
(6) Outline of the Second World War.
(7) Write short note : Position of the Governor and his functions.

(8) Write about the election, the qualifications and the term of office of the
President of India.

(9) Explain the law-making procedure in Parliament.

(10) Write a short note on the Judiciary.

(11) Write short note : The Speaker of Loksabha.

(12) Write about the Institutions of Local Self Governance at the Rural Level.
(13) Write a short note on the Archipelagos of India.

(14) Write short note : Classify the Minerals.

(15) Give information about the Malwa Plateau.

(16) Give information about the North Indian plain.

(17) State the major types of rocks.

(18) Give information about the Deccan Plateau.

Section D
*  Answer the questions in detail : (4 marks) [04]
(1) Discuss the factors responsible for World War-II
(2) Write the effects of the Second World War.
(3) Write a short note : Position and Executive Powers of the Prime Minister.
(4) Constitutional Provisions regarding the money bill.

(5) State the types of soils of India and give a detailed information.
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(11) aAH AHAAHL g elaal GuoHl Aatdl vl 9 58 B ?
W A Aol Belolga 9f 53 B 2
(12) oA e2iad (olgallej A AHAAHT et g2 -
(1) (2, 6) (2) (-2, 5) (3) (2.5, -3) (4) (-3.5, -4)
(13) (gl (2x - 1, 3y + 1) Aol (x + 3,y - 4) AHlel Sl A x A y 2.
(14) o{lA WAL (gl X-uel UR el Y-u&l U MAAL B A Yl colsl
8 :
() (250 (@02 ()20 4 (03
(15) (Gl (-5, 2)of X—met UR Al Y-uetell dol R ded B a suual
(16) AUAAL UEL(l caulvAll AW = AHAR VU, RULUS
(17) YEAsell uiul yduReua umset [Quell weud.
(18) ¢AAML cluRncl AQL AcAVAURA w AQL cauvAR A UEL ¥RUAl.
(19) Y6EASsHl sleFugl A YduReu cul.
(20) ws(Aul PQ = LM, Q A PR of Htau(olg dall M A LN of Heaelg 8, Al Auleld

s 5, PR=LN.
P Q R
L M N

(21) As RAsstal 1000 AW BNl o{lAoll GRA UA B -

LU - 455, siel - 545 Al £350{l Ueallo(l Aetlaatl 0.
(22) WRs AsH sAE ML [QanelRA Anad el oA Yol B. :

sl | I I \Y v

AnAA QL [69 |71 |73 |68 |74

Al QeawellA (1) 7ol ay (2) 7ol el Rl Acicaul sl Aofl Aetcloll L.
(23) Aisstaudt (v Yy (QendlRAA uf@oH osalcl 200 Qe[ U sla
yRelMl well doll WAl oA Yoy B,

w(eoH o | oo




@Qeuelloll dvaut 135 65

dl (1) uisslaut oA (2) uissiau of oA doll detaotl .

(24) 100 Uetotl clsuHidl As Aot UE 52l A Vot sl 8lat Aoll dewasn 1/, B,
Al cllsaul ¥l stofl Votoll vaul 0.

(25) As AsUHL $A 50 AlA Vel 2l-28 B. AHiell augRBs A As l-2e ure

scll A (1) Al R3Lej 8l (2) dlal 919 dlad Aoll Aeucetl .

[@Qeuol - ¢

YEIUR GrlR UL (E38ell 3 9JQL) [06]

(1) V5 o AuvARL UR gl

1 2 1
(2) WA Az =+ =t =

(3) Hoto] Yeu el Rleu (U A -
(28)% + (—15)% + (—13)?
(4) A WS\ : 64a - 27b% - 144a%b + 108ab?

0

(5) AH UHAAHL ol WA (g xllo] WAL 53 :
(1) (-3, 4) (2) (-2, -3) (3) (4,4) (4) (0, 3)
(5) (1, 0) (6) (4, -2.5)
(6) o{lA g2iAct (Bga saul QML 3 sl A&l UR B A U e (gl UM
AU AAHL e2lcll ustuel s
(1) (-2, 5) (2) (3,-2) (3) (0, -4) (4) (5 0)
(7) A, B, C A5 o WAL UR UAA &lal 3ol B A A Aal C ol A gl Al Al
sA 5, AB + BC = AC
(8) %l AC = BD &lal cl AAd $A %, AB = CD.
/D
B G
A
(9) (QaRuell 5 Al Ul ersuiell 50 ol vigal W HYsauul wicaul. 20 Rau

ugdl olalctdl sl oA yosod M Hedl.

Acll 1 2 3 4 5

UHRA ollagoll Avaul 40 |48 42 39 41

o{lAell Yolllloll detlcetl 20 :
(1) 40l ay ol (2) 49 olly  (3) 354l ay ol




(10) 52 uctHigl scllotl A2t AQM ol ot 1@l Alut uedl ousletl urdial AUl

auiell As ug ude sl A (1) cicdeg s (2) ARl sl (3) scllg dla Aol

Aellastl 2.

[Qetol - D

(Qotdalr Getr UL (E350ll 4 dJQ1) [04]

(1
(2)

(3)

(4)

(5)

RREDE (X§+1) (x§+1) (xﬁ—1) =X -1

UeUEl X7 + 6X2 + 11X + 8 HIll g clte s3A Al HAl sgUel x + 3 a3
(Qeu olal ?

P(=2, 2), Q(1, 2), R(1, -1), S(-2, -1) of A AHAAHL AUAWt 5 Aol Al
(gl Mscuell cotcdll 2us(Aeall Ystz sl

%l AC = BC &l Aq (g ¢ A A uUA Boll A 8lat Al A 52 3,

AC = 1 BC.

2

2000 glfcRefl GHR Wal AHA st UsHIAo{l HEAl (1A Yoo ®.

slclRe{l GHR s Ml A WsTULA

(crdni) 0 1 2 3 39l quR
18-29 440 160 110 61 35

30-50 505 125 60 22 18

50 ol aurR 360 45 35 15 9

il HUecdl uell o{lAoll uestlell etcstl N
(1) GHR 18-29 ot wal 1 X H wsHLd sl 8l

(2) GHR 502l ay ol 1 i 3 ¥ Aell ay wsHl sl 8l

(3) 1 adl As Ul s o sAl sl

(4) GUR 30-50 aM w A 1 ciui 13 Aell ay s s 8l




Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

(012) Mathematics (E)
Question Bank-2 (August 2022) pate: 26-8-2022

SECTION A

Do as directed : (1 mark each) [05]
(A) State true or false:

(1) Every rational number is a whole number.

(2) 7.478478 ............. is a rational number.

(3) Ifp(1) =0then (x+ 1) is a factor of p(x)

(4) Degree of p(x) = 3x° — 2(x%)? + gx —4is 6.

(5) Ifcoordinates of a point are (+, +) then the point lies in the second quadrant.
(6) Every point ony axis is of the form (0, Y)

(7) Pythagoras was one of the most famous pupil of Thales.

(8) Line segment is an undefined term.

(9) When an unbiased coin is rolled, the probability of getting 5 is % .

(10) The sum of all the probabilities is 1.

(B) Answer the following by selecting the correct option given below :

(1) Rationalizing factor of 7 + /5 is

(@) 7-+5 (b) V5 (V7 —5 (V7 +5
(2) Which of the following numbers is not an irrational number.

(@) V2 (b) V1 (V3 (d) V5
3) p(x)=(3x+1)(2x-3)is Polynomial.

(a) constant (B) linear (c) quadratic (d) cubic

(4) Zero of the polynomial, p(x) =4x -5 is

4 5 5 4
(@ —: (b) — (9 7 (d) <
(5) Ifa<0,b<0then pointp(a, b) liesin quadrant.
(a) first (b) second  (c) third (d) fourth

(6) Intersection of x axis and y axis is called

(a) X-axis (b) quadrant (c) Y-axis (d) origin



(7) Euclid divided his book "Element’ into chapters.

@9 (b) 11 (c)12 (d) 13
(8) has two dimensions.
(a) Point (b) Line (c) Plane (d) Solid

(9) Probability of an event other than sure and impossible event lies between
(a)-1 and 1 (b)-1 and 0 (c)0 and 1 (d)1 and 2

(10) A coin is tossed twice, then total number of outcomes are
(a) 2 (b) 4 (c)8 (d)o

(C) Fill in the blanks so as to make each of the following statement true :

2 1
(1) 23x23=
(2) Ifone of the factors of x? — 25 is x-5 then the other factor is

(3) a=6,b=4,c=3,d=-2 then (a-b, c-d) liesin Quadrant.

(4) The sriyantra consists of interwoven isosceles triangles.

(5) Probability of getting an even number from a unit digit number is
SECTION B

Answer the following questions (Each question carries 2 marks) [10]
(1) Find five rational numbers between 4 and 5.

(2) Express 0.6 in the form of S
(3) Simplify : (5+V7) (2 +V5)
(4) Simplify: (\/§ + \/3)2

2
(5) Evaluate: (—8)3
(6) Find the value of p(x) = 5x - 4x° + 3atx =2
(7) Check whether x - 3 is a factor of x> —4x? + x + 6

2_y2

. 25
(8) Factories: - X 5

(9) Expand: (x — gy)3

(10) Using appropriate identity, find value of 104 x 96

(11) What is the name of horizontal and vertical lines drawn to determine the position
of any point in the cartesian plane ? What is the point of intersection called ?

(12) Represent the following points in the cartesian plane
(1) (2,6) (b) (-2,5) () (25,-3) (d)(-3.5,-4)

(13) If(2x-1,3y+ 1) and (x+ 3,y -4) are equal ordered pairs. Find values of x and y.



(14) Classify : Which of the following points lie on X axis and Y axis
wesn  @(0-3) eFz) @(o?3)
(15) What is the perpendicular distance of the point (-5, 2) from X-axis and Y-axis
(16) Define the terms: 1. Parallel lines 2. Line segment
(17) State equivalent versions of Euclid’s fifth postulate
(18) State three defined and three undefined terms of Geometry
(19) State any two postulates of Euclid
(20) In given figure PQ = LM, Q is a midpoint of PR and M is a midpoint of LN, then
prove that PR = LN.
P Q R
L M N

(21) A coin s tossed 1000 times with the following frequencies.

Head : 455, Tail : 545 compute the probability for each event.

(22) The percentage of marks obtained by a student in the monthly unit tests are given

below
Unit test | 11 mr | v | v
Percentage of 69 71 | 73 | 68 | 74

marks obtained

Find the probability that a student has scored (1) more than 70 (2) less than 70
marks.
(23) To know the opinion of the students about the subject statistics, a survey of 200

students was conducted. The data is recorded in the following table

Opinion Number of students
Like 135
Dislike 65

Find the probability that a student chosen of random
(i) like statistics (ii) does not like it.

(24) A pen is selected from a box of 100 pens. Probability of a selected pen is 1/4 . Find
the number of black pens in the box.

(25) A box contains 50 red coloured T-shirts. A T-shirt is selected at random. Find the

probability that a selected T-shirt is of (i) red colour (ii) green colour.



SECTION C

Answer the following questions : (Each question carries 3 marks) [06]
(1) Represent V5 on number line.
(2) Showthat : ——+—="—=+-—==0
(3) Without actually calculating the cubes find the value of
283 + (—15)° + (-13)°
(4) Factories: 64a’-27b% - 144a°b + 108ab?
(5) Locate the points: (-3, 4), (-2, -3), (4, 4), (0, 3), (1, 0), (4, -2.5) in Cartesian plane.
(6) In which quadrant or on which axis do each points (-2, 5), (3, -2), (0, -4), (5, 0) lie?
Verify your answer by locating them on the Cartesian plane.
(7) If A, Band C are three points on a line, and B lies between A & C then prove that
AB +BC=AC
(8) In the given figure if AC = BD then prove that AB = CD
/ v
% G
A
(9) Fifty seeds were selected at random from each of 5 bags of seeds, and were kept
under standardized conditions favorable to germination. After 20 days, the
number of seeds which had germinated in each collection were counted and
rewarded as follows :
Bag 1 2 3 4 5
Number of seeds 40 48 42 39 41
germinated
What is the probability of germination of -
(i) More than 40 seeds in a bag.
(ii) 49 seeds in a bag.
(iii) More than 35 seeds in a bag.
(10) From a pack of 52 playing cards, jack, queen & king of a club are removed. From

the remaining a card is drawn at random. Find the probability that a card drawn
is-

(i) ared card

(ii) a queen

(iii) a club card



SECTION D

Answer the following questions : (Each question carries 4 marks) [04]

(1)
(2)

(3)

(4)

(5)

Show that : ()é +1) (xi +1) (xﬁ —1)=x-1

What should be subtracted from x3+ 6x?+ 11x +8 so that the resultant
polynomial is divisible by x+3

Represent P(-2, 2), Q(1, 2), R(1, -1), & S(-2, -1) in Cartesian plane. Name the
figure you get by joining these points.

If a point C lies between two points A and B such that AC = BC, then prove that
AC =3 AB.

2000 drivers are selected at random, a relationship between age and accidents is

given in the following table :

Age of Accidents in one year
drivers 0 1 2 3 Over 3
(in years)
18-29 440 160 110 61 35
30-50 505 125 60 22 18
Above 50 360 45 35 15 9

Find the probabilities of the following events :

(1) Being 18-29 years of age and having exactly 3 accidents in one year.

(2) Being more than 50 years of age and having 3 or more accidents in a year.
(3) No accident in a year.

(4) Being 30-50 years of age and having one or more accidents.
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faamer - A

frafaf@a (3n), @) 3k (F) & & & 9T oT g AT (7AF FT 1 3F)  [05]

(31 N BT 7T Sy T § I 3AT ? 48T |

(1) 9d% 9RAT FE&AT T qUT FE&AT Bl & |

(2) 7.478478 ... e IRAT TEdr § |

(3) =& p(1)=0 &, & (x+1) g TFI p(x) F T AU ¢ |

(4) T p(x)=3x° —2(x*) +ix— 4B AT 6 ¥ |

(5) form g & W& (+,+) &, a5 g gfachar wrqgater & gwm |

(6) Y-378T W I I g (0,Y) Ta&T & g & |

(7) urSUEIRE, dod H Sy s o7 |

(8) IWWs TH IANINT ug § |

(9) TR I N el T I W5 3 Iod @ IHE TR - ¥ |

(10) fraY waYer &7 Tl URfAS T3t Hr wiRddanst &1 Jer 1 gar § |

@ R F FUT T & 30 TR G Raeqr A woeed && Raa @ i qfd
ffaw .

(1) 7+ V5 &1 URAT FR& UGS § |

(@) V5 (b) —V5 (©)V7-5 (d7-+5
2) R dad_ Ay gear A& Y |

@2 (b) V1 (©V3 (d) V5
3) PX)=(x+1)(2x-3) T& ___ SgI& ¢ |

(a) 3Tl (b) TG (c) afaara CVREEIS]

1



9gICG p(x) = 4x-5 H Yrdh g |

() —% () —2 (© 2 () 3
(5) g p(a,b)T6l a<0,b<0ch Nig P ag _____ =qaier # ghm |
(a) 5UH b)eRd (T (d) Tqd
(6) a3l & ufceded Mg ® ___ Fwd § |
(a) X-378T (b) Tqafer  (c) Y-31aT (d) Ferfeig
(7) IfFas o el gedew vfodew w __ 3reardt f fenfoa R |
(a)9 (b) 11 (0) 12 (d) 13
8 ____ dhrarfaam g g |
(a) g (b) 3@ (c) AT (d) &=
(9) 3EHT qur ARTT geaAT & Hrdr Hr geAt i GRkswar & & g
g |
(a)-1 2T 1 (b)-1 F2T 0 ()0 T 1 (d) 1 @r 2
(10) vh e & & IR 3oaT oMU of A gt For derfad aRomat & dear
_FI
(a) 2 (b) 4 (c)8 (4O
(F) Ra wum@r #1 qfd ¢ .
(1) 2ix2i=_
(2) I g9 x* - 25 F Th IUEEUS X5 &, AN IR U@ ¢ |
(3) F&ra=bb=4,c=3,d=-2 8, @ (ab,c3) g wgufer & gham |
4) NITATFE R AT FS __ THG[ASg Pel Jafafed ¢ |
(5) UH 3iF & Whd TEAIH H ¥ UH GEAT GHeG L W I¢ GEAT WA HEAT g,
arsehrwi¥ear g
fasmer - B
Arafaf@a wea 1 @89 & 3w dfSw | (739F F 2 3F) [10]

(1)

4 dUr 5 & T i 9 IRAT FEIATT AT AT |

2



2) o.éaﬁrgmcrﬁam?rﬁﬁvl

(3) W AT : (5+V7) (2+5)

(4) & P IREATEOT AT (V3) 45

(5) A AT FRAC : (=8)5

(6) agqap(x)=5x-4x2+3aﬁrx=zwm3rraaﬁﬁml

(7) x-3 FE x° —4x? +x+ 6 Uh JUAEUS § IT AgT FHA ST HITSIT |

(8) IoTETEvs Hferw : Zx? -2

9) ﬁwwaﬁﬁv:[x—gyr

(10) 39gFd HI HIHHT HT 3UAET Feh AT Al HITSIT 1104 x 96

(11) Fd aa 7 &g # g & fow suder 7 3 arelr Y@ist & Far Fgd
g 7 31 & W@t & gfaeoes g I F1 Fgd ¢ ?

(12) efafEa Ng3it & @i de & T @R i
(1) (2, 6) (2) (-2, 5) (3) (2.5, -3) (4) (-3.5, -4)

(13) fSig3ir (2x-1,3y+1) TUT (x+3, y-4) FAGT g, dl x AT y & AT A HITAT |

(14) Frafafla fg x- 3167 TUT y-3rT o 3T g R, 39 AR Gffaor HS
MEs50 @ 0 ©) w20 @ (0 3)

(15) g (-5, 2)FT X-318T W Y-37&T @ of gl fohefelr gl ? Famsw |

(16) frafaf@a e arv wei Fr et faf@e: g @, YaEs

(17) giFers T dradl HAUROT & FHGET U QT |

(18) safafa # 3wl et 3RS Far et aRenfda ug fAf@T |

(19) giFers & 1S o ar fFrarond df@w |

(20) 3mhfd & PQ = LM, Q Ig PR & HEIfdg duT M Ig LN & #Hedidg &, o ey
T PR=LN.

Q R
M N




(21) v R{aFF F 1000 IR 30T R AeAfafd IReRAT Ferd § -
R - 455, 9e - 545
e GTaAT HI TAHdr ATd HIfAT |
(22) ww facamedf ganrt Arfde adtam & grcaie fae fof@d aroft & gene av § -

P IIEEED I Il I1 v \Y%
e
gredich 69 71 73 68 74

ar griRar AT Sifere afg femedisr (1) 70 & 3f8® (1) 70 & A 3% 9red e
gl

(23) ifEgH & IR A AT &1 7 I & fav 200 faczrdfat 1 adaor fFar
IGT | UTC 3Tehal AT &T I8 RO I G2r =T § |

AT faefdar $r Tear
9HE A & 135
TG A6l I © 65

WIRRaT AT HIfSTT o Teesar a1 @ faeandf (1) #ifead o #Xar ¢ |
(I1) HITETHT gHe aTgr Xl g |

(24) 100 97 & TH diFg H H UF U GG A G dg Yol Hlall @l al 3T FiAhdr
1/, & | @ dtew o feud e 91 1 we i A |

(25) U SlFd H FoT 50 oG o1 A Ao § | 3WA § Aefow 9 @ e e wwe
A W T (1) STl [T & g (2) ey W1 Fr 81 | 3THr wiRdar AT Fifaw |

fstmar - C
faf@a meat § s dfew (7383 F1 3 39) - [06]
(1) V5 & &1 @1 W Asila T |
(2) g VT : =+ ==+ —= =0
(3) T &7 UReleT [T oo AT AT HITAT :

(28)% + (-15)% + (—13)3
(4) JUIAES HITSAT : 64a’ - 27b% - 144a’b + 108ab?
(5) Wi del H fwafaf@d fHgsit &1 3mesr HfST -

4



(1) (-3, 4) 2)-2,-3) (344 @03

(%) (1, 0) (6) (4, -2.5)

e fafad g fha aqeier & § a1 e 387 X I8 Sarsv qur gt 1 i
ad # e S AT |

(1) (-2, 5) 2) 3, -2) (3 (0 -4 (450

A/B,C TH g Y@ W 3T gC g & d21 B 7§ A da1 ¢ & &g Rud &), @ ey
HfST fh, AB+BC=AC

3Mpfd & AC=BD &, o f&gy Hifsw AB = CD.

Y
/B/t/

N

(9) &6t & 5 Yot H ¥ vdF ¥ & qurg S TeTodT YA Ieg CHT Al
ITTATHT F I@T AT S 30T & el & | 20 G 9G93 HIg H HPRA g0
SISl & FEar Pt A geflv 3eaR vh areft F fodr a8 |
e 1 2 3 4 5
3pRa et |40 (48 (42 (39 |41
gEar
oot ff@a geam3it fr wRsar g fifew
(1) 40 & 3% AT 3PRA ¢ |
(2) 49 &t 3R & |
(3) 35 & 3HfAh Aot 3R & |

(10) 52 9dft & & ALY T STERME, TH TUT JATH Ahlell & de SThr & Tadl H IS
RE ¥ He W 30H ¥ T YdT 9deg, [hdT ST § | IE a8 9ar (2) orel L7 & &l
(2) s91 gF (3) RS &1 g1, ar et wishar Ara o]

f@smer - D
7oAt & FfaTar 3w AT : (7Q@AF F71 4 37) [04]

(1)
(2)
©)

(4)

ﬁaﬁr@ﬁm:(xéﬂ) (X5+1)(X5—1)=x-1

X° +6X? + 11X + 8H ¥ T TETT & YIed 9g9e x-3 ZaRT A=y & |

P(-2, 2), Q(L, 2), R(1, -1), (-2, -1) &I HIAT el F T RS T4 o7 &gt
s W q&Ad IHi 1 ywR AT |

Ifg ar gt A 3R B & & s g ¢ 58 yR By & & AC=BC & | & ey
HIfST &, AC= 1 AB.
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(5) 2000 ZSERT T 3H TUT 3o9eh SaRT T IS GHEAIH HT SRR et @ arofr
F el a1g §

BN HT 37 T g¥ # &I TS gEead
0 1 2 3 3q
EBED
18-29 440 160 110 61 35
30-50 505 125 60 22 18
50 & 3if¥% 360 45 35 15 9

30 Afgdl W & o=t geansit & gi¥sdr aa fIfav

(1) 37 18-29 a¥ g a7 1 a¥ & 3 et $ & |

(2) 3% 50 a¥ & 3fth g aur 1 a¥ # 3 AT 38 IHTH geieaAv H g |
(3) 1 a¥y & weh ot gEieaT o H & |

(4) 37 30-50 a¥ g U 1 a¥ F 1 AT IHN HUF gHeAT ¥ g |
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(11) Science (E)
Question Bank-2 (August 2022) pate:25-8-2022

The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

Section A

Total 25 questions are given in this section. Choose any five questions from
the following. (1 Mark for each) [05]

(A) Multiple choice question :
(1) What is the pH value of digestive juices seen in stomach ?
(A) Less than 7 (B) More than 7
@7 (D)0
(2) Which of the following is acidic by nature ?
(A) Lemon Juice (B) Human Blood
(C) Lime Water (D) Antacid
(3) Which of the following is used to cure the indigestion of food ?
(A) Antibiotic (B) Analgesic
(C) Antacid (D) Antiseptic
(4) The gap seen between the nerve cell is
(A) Dentride (B) Synapse
(C) Axon (D) Stimulation
(5) From where does the Spinal Cord pass ?
(A) Fore brain (B) Hind brain
(C) Spinal cord (D) Pons
(6) Which of the following is not a growth hormone in a plant ?
(A) Auxin (B) Gibbralin
(C) Cytokynesis D) Absesic Acid
(B) Fill in the Gaps:

(1) The Formula of sodium zincate is
(2) acid is introduced in our body by the bite of a red ant.

(3) is the name of a water soluble base.

1



4)

(5)
(6)
(7)
(9]
(1)
(2)
(3)
(4)
(5)
(D)
(1)
(2)
(3)
(4)
(5)
(6)

(1)
(2)
(3)
(4)

(5)
(6)

part of the brain controls the blood pressure and vomiting.
plant posses thigmomonesty.
part of the body controls the phenomenon of reflex arc.
is used to prepare thyroxine by thyroid gland.
State True/False :
Base turn blue litmus to red.
More concentration of H;0" ion the more is pH.
The concentration of 2 pH is more than 4 pH possesses acidic values.
A doctor advised a patient with insulin injection as he suffers from goitre.
A sunflower changes its position towards the sun due to the phenomenon of photonesty.
Answer in short:
What is used to control indigestion in stomach ?
Write the formula of caustic potash ?
Which acid is produced in our stomach ?
Who protects the brain in our body ?
What sense does sensatory unit of nose identify ?

Which part of the brain has power of memory ?
Section B

Total 25 Questions are given in this section. Choose any five question from

the following : [2 Marks for each] [10]
Differentiate between the acid and base depending on is general properties ?
What should be applied on a bite of honey bee ?

What are olfactory indicators ? Give some examples.

What are indicators ? Write the names of indicators used to differentiate acid and

base ?
Why does a milkman add a small quantity of eating soda in fresh milk ?

Write balanced equation :



(i) Reaction with sodium hydroxide and zinc.

(ii) Reaction of Hydrochloric acid with sodium carbonate
(7) Write significance of pH in soil.
(8) What is neutralization? Explain giving examples.

(9) Why isitadvised to add water to acid other than adding acid to water to make it

dilute?
(10) When acid is made to dilute how does it effect concentration of H;0" ion.
(11) Give two examples of basic oxides ?
(12) Show the reaction between zinc granules and sodium hydroxide.
(13) Why is plaster of paris to be stored in a dry container ?
(14) Why is it advised to use iodized salt?
(15) How can you detect the smell of incense stick?
(16) Explain phenomenon of Ascent of sap.
(17) What is refractive index ?
(18) By which phenomenon is chemical reaction seen in animals ?

(19) Give scientific reason : When we stop breathing to eat food its taste cannot be

released.
(20) Draw a labeled diagram of nerve cell.
(21) What are plant hormones ? Describe its types.
(22) What sensation is seen with introduction of adrenaline in your body ?
(23) Differentiate between plant and animal hormones.
(24) While stepping on fire one immediately lifts up his leg : justify.
(25) State the various parts seen in human brain ?

Section C

* Total 10 Questions are given in this section. Choose any two questions

from the following : [ 3 Marks for each] [06]

(1) Explain the preparation of bleaching powder with chemical equations ?



(2)
(3)
(4)

(5)
(6)
(7)
(8)
(9)

Explain preparation properties and uses of baking soda with chemical equation ?
Explain preparation properties and uses of washing soda with chemical equations?
Explain the significance of pH value in our day to day life :

(A) In digestive system.

(B) Decay of teeth.

Write a short note on pH indicator.

Write an experiment to study the effect of geotropism in a plant ?

Explain : As to how is brain and spinal cord is protected.

What is reflex action : Explain with a proper example.

Draw and label human brain.

(10) Which hormone is released by adrenal gland and also state its functions ?

(1)

(2)
(3)

(4)
(5)

Section D

Total 5 Questions are given in this section. Choose any one question

from the following : [04]

Write an experiment to study the reaction with zinc granules and dilute sulphuric

acid.
Explain the reaction of metal carbonates to react with acids ?

With the help of a neat diagram explain the important products from chlor-alkali

process?
Write any four endocrine glands seen in human beings with their functions ?

What is a nerve cell? Draw and label.
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(10) Social Science (E)
Std.-10 Question Bank-2 (August 2022)  pate: 26-8-2022

e The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

SECTION -A

o Total 25 questions are given in this section. Choose any five questions from the
following (1 mark for each) [05]

(A) Match the following :

A B
(1)  Citadel (A)  wheat bowl
(2)  Shrinathgarh (B)  Kharif crop
(3) Punjab (C)  Geneva
(4)  cotton (D)  Gondal
(5) WTO Centre (E)  assembly of ruling officers.

(F)  Ahmedabad
(B) Fillin the blanks:
(1) ______ isthe meaning of Mohan-jo-daro.
(Heap of the dead, Pithika, Upper house)
(2) ____isthebestexample of India’s sculpture.
(Stupa, Dockyard, Pillar of Saranath )
(3) _ crop of India is known as ‘white gold’.
(cotton, jute, sugarcane)
(4) ____ region of Karnataka is known for coffee.
(Durg, Cherrapunji, Coorg)
(5) _____ dayiscelebrated as world environment day
(5th June, 21st May, 25th April)

(C) State whether true or false:
(D Drainage system was a unique feature of Mohan-jo-daro.
(2)  Sun temple of Modhera is located in Bhavnagar district.

(3) India’s 22% of national production comes from agriculture.



(4) Winter yield is known as Kharif crop.
(5) World organization was established in the year 1980.
(D) Answer the following question in one or two sentences:
(1)  Whatis Stupa?
(2)  In which city is Kirti Toran situated?
(3)  Which district of Gujarat are the largest producer of ............... ?
(4)  Which crop is known as ‘Golden Fiber’?
(5)  Write the full form W.T.O.
(E) By choosing the correct alternative answer the following questions:
(1) In Lothal, what s tied to pull a vehicle?
[A] Nails [B] Pillar [C] Manual push [D] Grill
(2)  Pillar inscriptions are engraved in which script?
[A] Hindi [B] Brahmi [C] Urdu [D] Oddia
(3)  Which of the following farming gives the least crop?
[A] Horticulture [B] Jhoom farming
[C] intensive farming [D] Wet farming
(4)  In which of the following farming chemical fertilizers and pesticides are not used.
[A] organic [B] Mixed farming
[C] Horticulture [D] Sustainable farming

(5)  Which process joints country’s economy with world economy?

[A] Privatization [B] Globalization
[C] Liberalization [D] None of these
SECTION -B
Answer the following questions as directed: (each question carries 2marks)
(Any Five) [10]

(1)  Explain the town planning of Mohan-jo-daro.
(2)  Write a short note on road construction of Mohan-jo-daro.
(3)  Saranath Pillar is the best example of sculpture. Justify the statement.

(4) What do you mean by Gopuram?



(5)  The Chariot temple is world famous. Explain the statement.
(6)  Era of Gupta rule is known as Golden Era. Why?
(7)  Indian agriculture is not developed. Explain.
(8)  Explain the various types of farming.
(9)  Wheat s called as the King of Crops. Why?
(10) Millet is known as the laborer grain. Explain the statement.
(11) Explain the terms:
(1) sustainable farming (2) shifting farming (Jhoom farming)
(12) Groundnut holds an important place in the oil seeds. Explain.
(13) Cotton is a Kharif crop. Explain.
(14) Sugarcane is an important crop of India. Explain why?
(15) Consumption of tobacco is harmful to health. Explain.
(16) Which crops are need to be patented in the world market?
(17) What are Economic reforms?
(18) Write about the benefits of liberalization.
(19) What do you mean by Privatization?
(20) Write the benefits of globalization.
(21) What are the objectives of W.T.O. ?

SECTION -C

Answer the following as directed: (each question carries 3 marks)
(Any two) [06]

(1)  Write short note on Ancient India Town planning.

(2)  Write a short note on Harappa.

(3) Alarge organized ancient city contemporary to Harappa founded in Dholavera.
Explain.

(4) Lothal was a natural harbor of India. Explain.

(5)  Give information about caves in Gujarat.

(6)  Write short note on Sun Temple of Modhera.



(7)  Distinguish between Kharif crop and Ravi crop.

(8) Paddy is the most important crop. Explain.

(9)  Why cotton is known as ‘white gold’ in India?

(10) Tea and coffee are used as beverages. Explain.

(11) State the technological reforms in agriculture.

(12) State the institutional reforms in agriculture.

(13) State the negative effects of liberalization.

(14) Define liberalization and state its merits and demerits.
(15) Define globalization and explain the steps taken to develop globalization.
(16) Write the functions of W.T.O.

(17) Write steps to protect environment.

(18) What steps must be adopted for conservation and protection of natural

resources?
SECTION -D
Answer the following questions in detail: (Each question carries 4 marks)
(Any one) [04]

(1)  Write a short note on Medieval architecture.

(2)  Write a note on Gujarat’s Architecture.

(3) Jain Mandirs are world famous for sculpture and architecture.

(4)  Green revolution has led to increase in production. Explain the reason.
(5)  Explain the contribution of agriculture to Indian Economy.

(6)  Write a short note on Sustainable Development.
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(12) Mathematics (E)
Std.-10 Question Bank-2 (August-2022) Date : 26-8-2022

e The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

SECTION -A

Total 25 questions are given in this section. Choose any five questions from
the following. (1 Mark for each) [05]

(A) Choose the correct alternative and fill in the blanks :
(1)  According to Euclid’s division Lemma; given positive integers a and b there exist

unique integers q and r satisfying ,where0 <r<b
(A) a=bg+r (B) a=bqg-r
(C) b=aq+r (D) b=aq-r
(2) HCFofl17and58=___
(A) 2 (B) 0
(Q 17 (D) 1
(3) LCM(5,24,40) = .
(A) 120 (B) 1
(C©) 60 (D) 15x24x40
(4)  Which of the following cannot be the probability of an event ?
@) 3 (B) -15
Q) 15% (D) 0.7
(5)  Probability of obtaining 25 marks in the test you are having in your hands at
g g
present.
1 26
(A) Y. (B) P
25 1
@ = (D) 2
(6)  The graph of quadratic polynomial p(x) = ax? + bx + c if a < 0 will be
(A) Parabola open upside (B) Line
(C) Parabola open downside (D) Two intersecting lines
1, 1_
(7) -+ i .
b c
(A) —- B -
b d
@ —= D) -2
(8) 30thterm of an AP is :
(A) a+28d (B) a+29d
(C) a+30d (D) a+31d
(9) The common difference of an AP %,%,%, ... 1S
(A) p (B) —-p
() -1 (D) 1

(1)



(B)
(1)
(2)

(3)
(4)
(5)
(6)
(7)

(9]
(1)
(2)
(3)
(4)
(5)
(D)
(1)
(2)

(3)
(4)

(1

(2)

State whether the following are true of false :
57 + 2is irrational number.
In the S form of 0.0875, the prime factorization of q is not of the form 2" 5™.

—%is a zero of p(x) = 3x- 5.
Sum of zeroes of cubic polynomial is — Z.

The sum of the probabilities of all the elementary events of an experiment is 1.

The probability of the Sun rising in the east is 0.

Fourth term of an AP /7, \/2_8, \/@, ..is V/98.

Fill in the blanks :

LCM (a, b) XHCF (a, b) =

HCF of two numbers is 8 and their product is 384, then their LCMis_______
The probability of an impossible event is

The probability of getting 5 Mondays in August month is

If the common difference of an AP is 5 then a;3 — a;3=

Answer the following in short:

Write the formula to find the sum of first n natural numbers.

Is3,3,3,3,3, ....an AP ? Yes or no.

If P(A) = 0.25 then P(A’) = .
The graph of x = p(y) is given in the figure below, for some polynomial x = p(y).
Find the number of zeroes of p(y).

Y

A

AW/ AN

“ /V \ » X

SECTION -B

Total 25 Questions are given in this section. Choose any five question

from the following : [2 Marks for each] [10]

Find the LCM and HCF of 12, 15 and 21 by applying the prime factorization
method.

A sweet seller has 420 kaju barfis and 130 badam barfis. She wants to stack them
in such a way that each stack has the same number, and they take up the least aea
of the tray. What is the maximum number of barfis that can be placed in each

stack for this purpose ?



(3)

(4)
(5)
(6)

(7)

(8)

(9)

Explainwhy 7 X 11 X 13+13and7 X6 X5 X4 X3 X2 X1+5 are composite
numbers ?

Use Euclid’s division algorithm of find HCF of 4052, 272

Express 8190 as a product of its prime factors.

There is a circular path around a sports field. Sonia takes 18 minutes to drive one
round of the field, while Ravi takes 12 minutes for the same. Suppose they both
start at the same point and at the same time, and go in the same direction. After
how many minutes will they meet gain at the starting point ?

Gopi buys a fish from a shop for his aquarium. The shopkeeper takes out one fish
at random from a tank containing 5 male fish and 8 female fish. What is the
probability that the fish taken out is (i) a male fish (ii) not a male fish ?

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from the

bag. What is the probability that the ball drawn is (i) red ? (ii) not red ?

A child has a die whose six faces show the letters as given below :

A B C D E A

The die is thrown once. What is the probability of getting (i) A? (ii) D ?

(10)

(11)

(12)

(13)
(14)

(15)

Five cards - the ten, jack, queen, king and ace of diamonds, are well-shuffled with

their face downwards. One card is then picked up at random.

(i) Whatis the probability that the card is the queen ?

(ii) If the queen is drawn and put aside, what is the probability that the second
card picked up is an ace ?

Mahesh and Haresh are friends. What is the probability that both will have

(i) different birthdays ? (ii) the same birthday ? (ignoring a leap year)

A carton consists of 100 shirts of which 88 are good, 8 have minor defects and 4

have major defects, Jimmy, a trader, will only accept the shirts which are good,
but Sujata, another trader, will only reject the shirts which have major defects.
One shirt is drawn at random from the carton. What is the probability that

(i) It is acceptable of Jimmy ? (ii) It is acceptable to Sujata ?

Find a quadratic polynomial with V2 as the sum and é as the product of its zeroes.
Find the zeroes of the quadratic polynomial p(x) = 6x? — 3 — 7x .

Find the sum and product of the zeroes of the quadratic polynomial

p(u) = 4u? + 8u.



(16)

(17)

(18)

(19)
(20)

(21)

(22)
(23)

(24)

(25)

Find the zeroes of the quadratic polynomial p(x) = x? — 2x — 8 and verify the
relationship between the zeroes and the coefficients.

Divide the polynomial p(x) = 2x? + 3x + 1 by x + 2.

Find the zeroes of the quadratic polynomial p(x) = x? —3 and verify the
relationship between the zeroes and the coefficients.

Find the 10t term of an AP 2,7, 12,...

How many 3 digit numbers are divisible by 3 ?

Find the 19t term from the last term (towards the first term) of the AP 3, 8, 13,
e 253,

Find the sum: 1 + (-2) + (-5) + (-8) + ...+ (-236)
Find the first 1000 positive integers.

Check whether 55 is a term of the AP 7, 10, 13,... ? If yes then find which term is it

in the AP ?

Find the 31st term of an AP whose 11th term is 38 and the 16t term is 73.

SECTION - C

Total 10 Questions are given in this section. Choose any two questions

from the following : [ 3 Marks for each] [06]

(1) Prove that v/7 is irrational.

(2) A die is thrown once. Find the probability of getting (i) a prime number
(ii) a number lying between 2 and 6 (iii) an odd number.

(3) A box contains 5 red marbles, 8 white marbles, and 4 green marbles. One marble
is taken out of the box at random. What is the probability that the marble taken
out will be :

(i) red (ii) white (iii) not green ?
(4) A game of chance consists of spinning an arrow which comes to rest pointing at

one of the numbers 1, 2, 3, 4, 5, 6, 7, 8 and these are equally likely

outcomes. What is the probability that it will point at (i) 8 ? (ii) a number greater
than 2 ? (iii) even prime number ?



©)

(6)

(7)

(8)
©)

(10)

Find the zeroes of the quadratic polynomial p(s) = 4s? — 4s + 1 and verify the
relationship between the zeroes and the coefficients.

Divide the polynomial p(x) by the polynomial (g)x and find the quotient and
remainder:p(x)=x*—3x? +4x +5 gx)= x*+1—-x

Find all the zeroes of 2x* — 3x3 — 3x? + 6x — 2 if you know that two of its zeroes
are 2 and -v2.

Ifn—2,4n — 1 and 5n + 2 are consecutive terms of an AP then find the value of n.

How many numbers are divisible by 2 and 5 both lying between 101 and
9997
Ifa=—-2,d=—-5and a, = —77then find n and S,.

SECTION - D

Total 5 Questions are given in this section. Choose any one question

from the following : [04]

(1)

(2)

(3)

(4)

(5)

One card is drawn from a well-shuffled deck of 52 cards. Find the probability of
getting (i) a king of red colour (ii) a face card (iii) the jack of hearts (iv) not an
ace.

Two dice are thrown at the same time, find the probability of the two numbers,
appearing on the top of the dice. (i) are same numbers (ii) their product is 6
(iii) their sum is 7 (iv) their sum is a prime number.

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn
random from the box, find the probability that it bears (i) a two digit number
(ii) a perfect square number (iii) a number divisible by 5 (iv) multiples of 11.

(i) On dividing x3 — 3x? + x + 2 by a polynomial g(x) the quotient and remainder
were x - 2 and -2x + 4 respectively, find g(x) (ii) Check whether the polynomial t?
- 3 is a factor of the polynomial 2t* + 3t3 - 2t? -9t - 12.

200 logs are stacked in the following manner : 20 logs in the bottom row, 19 in
the next row, 18 in the row next to it and so on. In how many rows are the 200

logs placed and how many logs are in the top row ?



T ATeAfAw 3R 3Taay AreafAw femor &8,
el

(12) arfora (H)
F8Tl-10 e - 2 (3T 2022) aT. 26-8-2022

o WHe : fArT mAdE A ¥ FEAUR AT F A9 AR 25 IHF A
FAE A=t gl |

famr - A 5 W - 5 31F (I AF HT 1 3F)
gl doh F fAHTT A & U 1T Rl 5 UaAT Y qhg FT HAT T A
T IR T §

Rsmar - B 5 w2 - 10 31 (I HT 2 3F)
e S &7 f3umer B & U arv fohegy 5 UeaA & gdE X HEler FT B
T JIR T §

fAsmar - C 2 weed - 6 37 (Y AF &1 3 3(F)
gl deh H AT C # QU 910 fhegl 2 gaAt & gde X FHaler &1 C
fasmeT AU e 7 |

AT - D 1 N -4 3iF (TAF FT 4 3iF)
geeT soh H fqHer D 7 feu a1v foRegi 1 weal &I gdg & ®aler &1 D
T IR e §

famer - A
o AT (), (@), (1) 3R (F) F ¥ Fedl qfT voT g AT | [05]
(#) famafdf@a wat § s sRa fee gawt AT |
(1)  giFrs & #0E1 & 9 JAY 3HJAR Rl oo quiier a 3R b & T 30T 3RO

(AYa=bg+r (Ba=bg-r (C)b =ag+r (D)b =aq-r
(2) 17 3R 58 & TALH = ..o, gram |

(A)2 (B) 0 (C)17 (D) 1
(3) A3 (5, 24, 40) = .o

(A) 120 (B) 1 (C) 60 (D) 15 x 24 x 40



(4) &7 H q Pl O gcAT HGT A6l & Tohar |

(A) 2/3 (B) - 1.5 (C) 15% (D) 0.7

(5) 39Uk gTY H *UT 25 37 &I Al H & 25 3 Fel 3T THGEAT ............ gt |
(A) 5 (B) £ (C) 2 (D)
(6) aﬁmﬁag'qap(x)=ax2+bx+cﬁa<0$r3ﬂﬁ'@ ................... g |

(A) 3R FI AR oIl RaeT  (B) @M (C) =iy &I 3R Yol el (D) Th 8 LT

(8) HHATTAR AU HT 30 AT UG ...cocveeeeee g |
(A)a+28d (B)a+29d (C)a+ 30d (D) a + 31d
(9) %%"% ................... FATR A0 &1 AT AT oo, g |

Ap (B-p (C-1 (D)1
(@) T Qe acg § 91 39T Ian |
(1)  5V7+2 ws 39R&AT gEar g |
2) 0.0875$§Wﬁq$3ﬁmw2”5mwﬁaﬁml
(3) P =3x-5F T = F |
(4) O sgue & @i T AT - bla @ ¥ |
(5)  fraY gter dr gt uRfAE geast H IRFHArt F AT 1 gar g |

(6) HI YT H 39 3F uTAT H FATGAT 0 gl |
(7) 7, V28,63 THTAR Aot F 4 AT 95 /98 BT |
(M o e 77 & 30 9eR Rea waE=t i qfd Ao |

(1)  JEIA. (ab) x THLIH. (ab) = —-mmmm-

(2) o St @ a8 ¥ 3R Ium 384 § A IR F AL = e ¥
(3) 37T TTAT FI THGAT - g

(4)  37TEd Al H 5 AR 3Ted HT HTTAT ----mmmmmmmmmm grafr |



HATeR Aol &7 AT A 5 g al aig- a1z = - g |

7T 92T +T TS Asg AT T dFT A Ia7 difad |

YUH n Wi HEABT & AT AT A &l FF fof@u |

fowst 3 # sgue p(y) F AT x = p(y) & Her@ feam 320 & v ply) & Lt H

c

TEIAT a3 |

faamer - B

o yeat & 3w 9w | (IT3AF F 2 I3F) (Fegt ur) [10]

(1)
(@)

s AulaEs fafdr g@rT 12, 15 3R 21 % HCF 3R LCM 1d HifST |

T ASIS fashar & 9@ 420 @Ie] &1 afthal 3R 130 STeH &1 afthai § | a8 Sefehl
N SR T TR § B uAF O F afthdt i TEar gA ) Jur ¥ qRa aff
N WA H FAdH TUH W | 38 HH & A0 936 o & forden afthar @ o
el § ?

eI AT fF 7 X 11 X 13 + 1337 X6 X5X4X3X2X1+5
AT TEIT FAT § 2

giFeTs TasTSlel UeallReA T T & 4052 AR 272 T AALIA. A A ?
8190 &I 3T IUAES! & IUThel & §I H UFd HIST ?

el Wer & Al & IRT IR Uk AR 9 & | 38 AT T Th TR ol H
afaar & 18 fAfae ooa &, Sefe siY e F1 th IFa JIa #H AT A 12
A Jea § | A NS A 3 9 v & TUF 3Rt & THT W IolaAT IR
Hch Teh g1 foRrm & word € | fohcel @FT & dlg 9 G AR T W) Aol ?




(7) N 39S ST ST 3 F AT TF G @ Ao @lad! Bl GHFEER Th bt forae
5 R ATl 3R 8 HAGT AT H ¥ T AG IRTHAT 34 ol & fov Adrerdr 1
DT FAT UIASAT ¢ foh ATl I8 AN (i) s & (i) X AT g T THEAT AT HL

(8) UHh For & 3 offel 3R 5 Frell 3 £ | 30 Yok H A T Ig Ieoadr drell ST &
| sgFT UTRSar 1 & & 3 (i) el 8 2 (i) ofter FAET & ?

(9) TS a=d & Urg AT Il ¢ e Helhl W AFfoi@d 37eR 3ifehd &

A B C D E A

g 9 FI Ueh IR $epl SITAT § ST &7 Widehar & & (i) A 9o @12 (i) D e &r?

(10) QO & O udl - §¢ 1 Ggoll I[eH &7 [ S1ERMg 3R FFHT - Pl JoIc Fleh e
YR el ST § | O 38 & arecoas gar fAser Srar § |

(i) =g ¥ gikear § [ Ig ga1 ' 9 g2

(i) IfE 9 AFer 3T & a7 30 39T W@ AT F1ar § 3R U 3w gar Ao
STl & SHehT &7 WIdehc & foh @R fo¥ehell 91T UM (a) T Sarer §72

(11) 7Y AR gor o AT § | suFr Fa7 Wihar § 6 gl () & oA G Feat ot
g2 (ii) 3T S f&oT T & & ? (leap year 1 BIsd U | )

(12) ©F RBed 3 100 Foi & DAt 88 s S am 8 FF AT & WS & | w&F
Y fSFa 3 & Fllol TNHR AT & ST 3 8, SId & Toh 3T SATART GoTrer
36l SATSll Pl AR Pl ¢ oidd TXrer 3w § | 50 Bed & T v AT ol
ARTSIRT H fHAdrar Jar & | sHT FA7 WidShar § f6 ag s (i) ST Fr
TR g1 ? ($) GoIlaTr T TR 812

(13) efErd sgue id Ao foedh et & Wﬁamwég’r?

(14) efaerd 9§98 p(x)= 6x*-3-7x & Yrdsh AT H?

(15) efaerd sgug p(u)= 4u® + 8u & AT &1 AT 3R 0TIl ATT PI?

(16) efaerd Sgue p(x) = x* - 2x - 8 & YrIF A F YAl JAT FIOH & €T T
$r T FA?

(17) agqap(x)=2x2+3x+1a$rx+2qama¢maﬁm

(18) afatrraagqap(x)=x2-3 & Yedh AT H YAl TUT HIOTh & o Ha H
ST FRA?

(19) AT Aoft 2, 7, 12,........... T 10 af 9g AT FHA?

(20) T 3Rl aTel fahdell HEAW 3 ¥ AN 87



SUH 1000 =T qUITeh T FaT AT hliora?
AR Ao 7,10,13,........ HT IS g 55 g Thal g2afe & ar HieT aAr?

AT Ao &7 11 af 9g 38 3 16 af ue 73 & ar 3T 31 af ug AT HU?

faamer - C

o weAl & gRTaR 3@ AT | (9@ #1 3 3F) (Rt @) [06]

(4)

ey HifTv F V7 & 39RAT FEar g |

T I H Th IR el STl § | HFATi@d &l Ied del I Tl ATd hifoTT
: (i) T 3T FEAT (i) 2 3R 6 & g *UT F$ TEAT (iii) T _AvH FEar

T f3ed H 5 ol &0, 8 Uhe &9 IR 4 W FI ¢ | 30 Bsd § & ws Far
AT fARIel ST & | STl FAT Uiikehdl g [ AAdrem 3—r &ar (i) o g ?
(i) Fhe & ? (jii) &7 AT § ?

AT & U Wol H Teh X & GART SA1ar ¢ S fasmd 7 e & a1 d@eansit 1, 2,
3,4,5 6, 73R 8 H & fondl ush &A1 &1 301 Xar g1 (i SRw)

Ife ag g3t gRumH FEURe® & af sgdhr Far wilkear § & I8
AR SR (i) 8 @I wAM? (i) & ¥ I3 HEIT A F0? (i) JIA

JAHST TEIT FI FIN?H THGAT AT FL|

gfauTd 9gue p(s) = 45’ - 4s + 1 & YrIH AT HGC IR LIl FAT TR &
drT & U FHr Gegar i g HfAT |

p(x) P g(x) & HET St T HETHS d2AT AV AT HIoT| p(x)= x* - 3x* + 4x + 5
INgx)=x2+1-x

2x* - 3x° - 3% + 6x - 2 & W’ YeUP A FAC, I TR 3HS aT Y V2
IR V2 AT

n -2 4n - 1 3R 5n + 2gATER S0t & HfAF g gf A n A Hraa Ja =T ?
101 31X 999 & &g 2 3R 5 ar & fasey FEav fads giefi?

a=-2,d=-5 an=-77 & d n 3R Sn aA1d K |




faamer - D

e weAl & gRTaR 39 Pf@T | (9@ 1 4 3F) (Fgr ) [04]

(1)

52 Tal &Y 3= YRR ¥ B IS UH A5 H T UH UaAT Ahrer Sar g | [
fof@d & grcd e Hr TIR¥war A1 HTATC | (i) &l W[T H d16eng (i) TEER arelr
T (iii) 91T T IATH (iv) FFhT AET &

&l 9T P TH AT 3Ol AT § I W & ’F () AT 37 fHel (i) Ietor
IUTAB 6 8 (iii) 3eTehT T 7 @ (iv) 7RI &I ANT AT TEAT g , T FHIEAT
AT Y ?

TH U H 90 3Tk (discs) § , [T ®W 1 & 90 ad& d&aw 3ifka § | afe sa 9
H & v Brrareeedr Hamel Sl g dl 8! Wiedl Ad Hifev e 58 B3 e
Hfha gl : (i) & 3R @I UH HEAT (i) UH qUT g e (i) 5 & fOwey ue
T (iv) 11 & 90T ( Multiple ) 8

(i) T x° - 3x* + x + 2 TH §gUG g(x) § T & W el 3R ATl FAL:

X - 2 3R 2x+4 § A g(x) AT AT (i) o AIT 6 sgue ¢ - 3 Ig sgIe
2t* + 3t°- 2t* Ot - 12 & T IUHEUS § ?

200 @3l (logs) & U & I HSH YhR I@T AT g & F9& AT arelr afed #
20 WICS 3T 3WTell Ufdd #H 19 ¢cs, 39 3WTell Ufed #H 18 @cs, a1 ¥ 200
s fohdell dfdddl & W a0 § JUT F90 3T dfed &7 hde ocs § ?
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